9032

Parts Breakdown

V/rled,dbds

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

@ooxlmm.hmm—\)a
+

/ |

b A A &

Part ID
317523-4
265999-8
153308-2
257249-5
253807-5
265494-8
272229-0
961014-3
265090-2
941052-1
265751-4
253807-5
421198-4
317522-6
265092-8
345196-3
266026-4
345197-1
265028-7
233333-0
317525-0
265040-7
153314-7
153310-5
233332-2
1533121
232185-6
922111-0
911138-5
345195-5
265040-7
153314-7
664013-1
682502-4
687063-9
265995-6
631184-9
631676-8
651263-7
415635-8
265995-6
853483-1
191938-1
195008-8
643550-8

819063-3
159747-4
593496-7
266052-3
415634-0
210023-2
681614-0
517386-0
241884-9
210005-4
A-34469
810134-9

Parts Breakdown

Part Name
BRACKET, 9032
TAPPING SCREW M4X25, HM1800
PULLEY COVER CPL., 9032
RING 9, 9032
F. WASHER 5, 6012HDW
HEX. BOLT M5X13, 9032
LEVER 40, 3901
STOP RING E-8, 3901
P.H. SCREW M4X20, 9032
F. WASHER 4, 9218SB
THUMB SCREW M5X13, 9032
F. WASHER 5, 6012HDW
PLUG, 4190DW
DRIVING ROLLER, 9032
TRUSS HEAD SCREW M5X12, 9032
SAFETY COVER, 9032
TAPPING SCREW 4X12,5477NB
CAM LEVER, 9032
P.H. SCREW M4X11, 9032
COMPRESSION SPRING 10, 9032
ARM HOLDER, 9032
.P.H. SCREW M3X4, 9032
.SHOE 9 CPL., 9032
ARM 9 CPL., 9032
COMPRESSION SPRING 6, 9032
ARM TENSIONER CPL., 9032
LEAF SPRING, 1050DWA
H.S.H. BOLT M4X10, LS1011
P.H. SCREW M4X20, 9218SB
ARM COVER, 9032
.P.H. SCREW M3X4, 9032
.SHOE 9 CPL., 9032
CORD (2X18X8 SJT), N9501B
CORD GUARD 8-85, HP2010N
STRAIN RELIEF, 4323K
TAPPING SCREW 4X18, 4323K
CONTROLLER 100/115V, 9031
CONTROLLER, 9031
SWITCH, 9031
HANDLE COVER, 9031
TAPPING SCREW 4X18, 4323K
NAME PLATE, 9032
CARBON BRUSH 408 SET, 3901
CARBON BRUSH SET CB-408, KP0O800OK
BRUSH CAP , 9031
MAKITA LABEL, DA3010F
MOTOR HOUSING COMPLETE,9031
FIELD ASS'Y 115V, 9032
TAPPING SCREW FLANGE PT4X60,HR2410
BAFFLE PLATE, 9031
BALL BEARING 627DDW, 9910
INS. WASHER, 9031
ARMATURE ASS'Y 115V, 9032
FAN 60, TW0350
BALL BEARING 608DDW, 9031
3/8X21 ABRASIVE BELT,80GRIT 10/PK, 9032
CAUTION LABEL, 3709

Page 2 of 2

Quantity

PRI \E I UK U QUK U G U |G J G G G |\, JE Gt G U ' JRSE G Uit U N N S Qi i G QUK QU G QU QL QU (U (U (U (I QL I QU U (U A U U U QUK QU QU QI QU QU I QI G GV

9032

8/18/2010



